DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)
TEST 2

Name:

Time:

Score:

N —=2614=+10 =

2 386.5+5 =

5 11860 <+ 10 =

H —48.7+0.01 =

5 351.63 + (—9) =
6 250.8+1=

o —=9.379 + (—-0.1) =
5 797+ (=2) =

9 13671+ (=9) =
) —=385+7=
=776 + 10 =

12) —1191 +5 =

13 53216 + 8 =

1) —1.8268 = 0.02 =

529560 < (—5) =

Mathematics: Division - Level 6 - Horizontal - Set 2
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10340 + (—5)
93.16 = (—1)
0.3739 <+ 0.01

594 + (—6) =

—153.6 + (—4) =

—369.9 + 10 =

—201.75 +5 =

—34.027 -7 =

2.1056 + 0.04
107.4 + (=3)

24324 + 3 =

—24.267 = (—0.3) =

—53.6 + 0.04
18360 = (—3)

—6727 =1 =
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